QB365-Question Bank Software

Series JSR/1 Set 1

FIE .

Cod:No. 31/1 I1
et 4. Tieqell hie i I & Ja@-
Roll No. "

I8 T 37avd o

Candidates must write the Code on
the title page of the answer-book.

o FHUIT AT F A fh 30 TH- W fa Us 24 2 |

o IH-UF | gTie BT Sl 3T U 7 e Trer 1 BT I -t & g@-I8 W fad|

o FUAT S B A Th 39 TH-TT H 36 T 2|

« FHUAT T T IW TAEHT ITE FHH A UgeA, T T HATH T o1l |

« 38 YH-TF A Tgd & U 15 fime & guw e o 21w - 1 faawon qatg |
10.15 &1 TR ST 10.15 &E | 10.30 SS1 6ok ST hadl J¥-97 i Ieil 71 39
31afY o S o IT-F&dehT T hIg I T2l forei|

» Please check that this question paper contains 24 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

» Please check that this question paper contains 36 questions.
* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

Hehford TieT - 11
SUMMATIVE ASSESSMENT - II

IEEIE]

SCIENCE

e @ar : 3 92 ] [ ST 3% : 90

Time allowed : 3 hours | [ Maximum marks : 90

[P.T.O.

QB365-Question Bank Software




QB365-Question Bank Software

qIaT= 13397;

(i)

(i)

(iii)

(iv)

v)

(Vi)

(vii)

(viii)

(ix)

31/1/1

3G J97-F F1 @ G, WFT-3 R GFT-a 7 ier 797 8 | 379%)
g1 9T & Fo1 @ I ferad 8 1

&Yt 77 ST & |

R Fo7-97 8 135} 397 7 F5 797 519 781 8 |

STTTHI T 3 3R T T & T F971 & I JIH-J9% 9T &
STIR R fora 8 1

T 3 & Y97 G&IT 1 G 3 & J97 UH-UF 3 & & | 7% I U
ITeq 79aT Uk JTFT 4 3 /

ST 3T & 97 &7 4 & 6 & J97 G1-§) 7l & & | §7% IR T
30955 7378/

ST 37 & J97 &1 7 & 18 3 Fo7 -7 SH & 8 | 573 I
T 50 F1551 7 37 & |

T 3 % 337 G719 & 24 3 J97 Jia-91 37 & & | 79 IR
ST 70 9551 &7 & |

YT T & 97 &I 25 & 33 & Y97 JIVTIcHE FI9IT T HTEIRT
TGl 77 & | JIF F97 U 37% 7 & | 13T 779 9 [9eq 4 &

379! FIT T G ITYH 1957 GAT 8

YT & & J37 G&IT 34 @ 36 & T57 JINTcHF FI9TT T STTERT
g1-31 3] & J¥7 8 | 579 FTH Glera 4 a7 & |

QB365-Question Bank Software




QB365-Question Bank Software

General Instructions :

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

31/1/1

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or'in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in-Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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T -—-A
Section-A

1. frafaRea o @ g 1 srTer ausd it faRaw :
(i) C,H,
(i) C,H
Write the next homologue of each of the following :
(i) C,H,

(i) C,H,

2. SHRIGAH o 38 R 1 AW (AR S8l Fifew J9499 6 e hicTshg
forenféa a1t 2 |
Name the part of Bryophyllum where the buds are produced for

vegetative propagation.

3. @ Tehicieh AT shi et FHTST |

List two natural ecosystems.

4. 37 31 feufaai = Ioorm HifST ST fordt fomad o T W 319 guon
SR 3ok ATEfId Tfdfers sd & | 39 YR 4 Sldfenai o 7O | &l

ST o Ft ST |

State two positions in which a concave mirror produces a
magnified image of a given object. List two differences between

the two images.

31/1/1 4
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5. Toreht 3o YRR @ TETicld STA-9WR TeEH % IR AT sl g

EEIE 2

List four advantages of properly managed watershed management.

6. Tt T8 yemwr Y Ieewr Gfed =men Hifse ew o d@ &

Hihd 98I 8 99 R Tel-eH BollcdTeeh o T | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

7. wEuASt A w1 E 7 A A AR " R® B § 7 Sk o
Torery T[oTt <t = ST | 3

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

8. & udATa Wiz H,SO, i ufeafd # udiss e & stfufsran oan 2,
ql 43 T4 g Tare 3cqd il « | <l fou e i o s A 3

(i) Tg 7Y a1t A Afiek o Afrent & it § o 2, 3uept AW faRaw |
srfurfsran =1 TR THieur 3R 99 9T 3aTe o1 A fdfgu |

(i) 3| ik 4 |ig H SO, i SfHehl 3l Ieei@ shilT |

31/1/1 5 [P.T.O.
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

9. hfcaem #I5 qcd ¢ fSrEeh! ] e 20 2| A feu U g wo1 &

T Gfed I <ifeie -
(i) ohfclm 91g 8 S1e@T 319Tg ?

(i) THeh! TTATY] oo URfvEm (WH] e = 19) ¥ H9 i SAE
3fereh ¢

(i) 39 TTTEE I TF fafaT |

Calcium is an element with atomic number 20. Stating reason
answer each of the following questions :

(1) Is calcium a metal or non-metal?

(i1) Will its atomic radius be larger or smaller than that of potassium

with atomic number 19 ?

(i11) Write the formula of its oxide.

31/1/1 6
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10. 15 d@ ‘M’ Sae soae fomma (2, 8, 2) ®, 9¥s ®9 ¥ Holhi
(NO,)",(SO,)*” @1 (PO,)>" % |IY WIANT LAl & | 38 TR o ol
Rfirert o g1 T | aea M ek sred aweft & form o ok
Ed | oA ®7 M’ HEgdst A ST SIeEl ST A
FATE ? 379 3T hl SR Aed S it | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the

formula of the three compounds so formed. To which group and
period of the Modern Periodic Table ‘does the elements ‘M’
belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

11. Sfa =R <l S §RT ST ot SAYET AT S §RT ST e, 3!

et o IS o difedl Toh Faladi § UG Rl G Tohd TR fard &)

TRl & 7 SUh SATeLV] 3hi eIl & AT hifwi | 3

How do organisms, whether reproduced asexually or sexually
maintain a constant chromosome number through several

generations? Explain with the help of suitable example.

31/1/1 7 [P.T.O.
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12. = 3@ T M TC 9EN A, B 3R C & T 3T IAh 1 Uh-Ueh
fafay |

Ny

Name the parts A, B and C shown in the following diagram and

state one function of each.

@ >

13. AHa SHEE @ FEta @, S 9w & @ o vgfg & fau
AEwE B, il HE b T Oy ot gamse ) y@w fafa % qm

forgr=a o1 Iooig hIfT |

Suggest three contraceptive methods to control the size of human

population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/1 8
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14. T & Neli o A1y U T Hed & TF TN § IR I a7 TR T
STd HeX o Y[E OF Y 1 IS S WY o "1 FROT R T, al
Htd ol weett NG, F, H shee ol 1e giem=R 8 3 | 3

(a) 38 TeRUOT § S Il o ST&T0T1 shl o1 BlaT & 7

(b) S F, gl o Tl o1 SORnTor g s R @ 3w I U
fopant fo @rafa <t gadl Hi€l, E, # SH1 Qfoli- ol 9e 7R s WY
fomrs 3a 8 | o =i gem ¢ Hay # e Hifv |

In one of his experiments with pea plants M@hdel observed that

when a pure tall pea plant is crossed with a pure dwarf pea plant, in

the first generation, F, only tall plants appear.

(a) What happens to the traits of the dwarf plants in this
case?

(b) When the F generation plants were self-fertilised, he observed
that in the plants of second generation, F, both tall plants

and dwarf plants were present. Why it happened? Explain
briefly.

15. 3IUTfSid &l TR TRk Aeon o s i fasiaenrtt aeqon st g=ht
TfCThT o &9 | ST | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

31/1/1 9 [P.T.O.
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16. = fou 7w 3@ =i, oo 1ader /39 Ul W ahig Tehret fohur AT
St 9Tl TR 7, T I Yfeeht W T | e TeRtoT | 39 foR
o1 90T B YA o YITd Rl Y S90S |

~ Yy L
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

17. ITd:3c G Thid T Idid BIdT 8 7 1 ohig JaTeh $6 TIEreAT i Jequr
5 AT 9T off S HehelT § 7 319 3T hl SHRUT Aed YfE i |

Why does the sun appear reddish early in the morning? Will this
phenomenon be observed by an observer on the moon? Justify your

answer with a reason.

31/1/1 10
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18. frAfetfiaa i gfs % for Hror difs:

(a) Torelt oft Sa-mvee # STuseehl / STUHTSIeR! shi JUTEATd TR # |

[aN aN

(b) et SATER T@eAT § H11-JaTe THhifTe BT 2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

19. (a) G TESIHIEHT TR AT BIESIhIEAl o st fadied 3 & fog
IS T qhET forfau |
(b) T % a1 H &4 B T aTel Scdtal o 19 fotfu | g At
srfufsran =1 Tamafaer Tefet faftan iR fomfoa 2 aret fafia
YehT hl FHeliaqi ohl S11SU |

(c) T o vepm sl Iufedle & QI s FA0 o | AR
yfereerma sfsrfsran st 7T ST 7 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

31/1/1 11 [P.T.O.
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20. (a) | HET S O o e feU T Tedsh Wit ot s fafae :
(i) STvERE
(i) HaAREE TS
(i) ToiE™

(b) =T Sl TLEAT 3 F1E o JUI IS |

(a) Write the functions of the following parts in human female

reproductive system :
(i) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

21. S 3g9eH O 1 dTeqd © ¢ ST 3g9e o ToTU ITERt 9 ekt sht
Tt TR | S W I UG SRS o QUi oh STd 39
T ek Tal &l Tehdl ¢ 370 3T hi FR0T |fea giE i |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/1 12
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22. (a)

(b)

(c)

(a)

31/1/1
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Tt Uit o Heel # = faw T uet i uftar fafee

(i €

(i) oRdT &5

(i) T=T &

(iv) T HrRd

e fow e oot o g s g o forw fomor e Hifew:
(i) FIdd gUur

(i) 3T U

Fro fou U sE W o AifST | seH M IE g9 2 q9T P s
forrar 2, fSreRT gdur gRy s srafela gfdfsrsr Q 2 |

YU M o Yeh o Iocil ahifeTy 3T fdfera Q =T whig Ush falRTe
o1 fARaT | 5

Define the following terms in the context of spherical

MIrrors :

(1) Pole

(i1) Centre of curvature
(i11) Principal axis

(iv) Principal focus

13 [P.T.O.
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(b)

(©)

23. (a)

(b)

(c)

31/1/1
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Draw ray diagrams to show the principal focus of a :
(i) Concave mirror

(i1)) Convex mirror

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

3qd <9 g0 Sfdfers 5991 2w o fou 39 feurfa 8 gerren feeror
i few i ol Tif o JeRlfNmeh hext 3T 3T T&T HIFH h
= feag |

Ik foor @ 0 3fa fug @l (wAmms (+) SAuan
R () 75 hdig g oRuel & gEr) fams gt () den
fdfers gt (v) 3Tfohd ShITSTT | Seer@ shiTST ok 39 TehtoT |, 3 it

3T oG <l Hishd gl (f) T Toret Tk Taifera € |

34 <G i A0dT J1d hINT, ST T9 TR heg & 20 cm g W

o o

Toora fereht foreer o1 —1 319l 1 arEafares 9 et Ufdfors s 2 |
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(a)

(b)

(c)

24. (a)

(b)

31/1/1
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Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

In the above ray diagram mark the object-distance (z) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

Find the power of a convex lens which forms a real, and
inverted image of magnification —1- of an object placed at a

distance of 20 cm from its optical centre.

AL 93 o 1= U 7T Teh 9 o1 it fafau
gaeft, afarfient, freeeti= ofg, uemmsft ufmr

R o fasasfiel <30 & ARl s3fE SHitar-37ear @ fifsa 21 59

IR Bl JFE R I i3l o JearaoT /e g/ dteh
foRaIT STT TohaT 2 | 37Uk 8T oh Tt JUTeRT THTST 3 37T TSiY
T gHl qe & aR W SISl 3cdd i o 3239 4 Teh IR i

IS TR 21 Afe o1ad 59 Sfia-ae 8 91 o & fore e

ST, Y 3719 39 v &l § fohe Sehm T ot ?

(i) 39 YR o M ! SRATSIT H 1 3e3 forfay |

(i) T o 9T A9 A1 Sl T A o I IR d G0 119
TN hT ST Tqeh ol ¢ UH QT IRl ohl Gt SMTST |

(iii) 3 &1 Yool st gl sA1EY, S 3 =t 7 foskfad & 9 E,
ST 39 YRR oh T H W ekt Hishd TNTeM &d © |

5
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(a)

(b)
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Write the function of each of the following parts of human eye :

Cornea; iris; crystalline lens; ciliary muscles

Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(i) State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programmes.

HT-o

Section-B

25. 9 fou TU wEel ok foRE YT # IWM WEH sHH % folg

HTSATRCUT-SATTRAT Rl St oh ToTQ forar <11 ThaT & 7

(a)
(b)
(©)
(d)

31/1/1

Ca(OH), 31t " =1 a0t
NaOH 3R 1% =1 aa
NaOH 3R @< dd
Ca(OH), 3R @i+t at

16
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Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil

(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil

F1E B 25 mL ¥TiEar it IR wEAeEt P, Q, R 3 S da T3
@A H 10 mL ST S ¥R @ | 98 39 WA 4 =1 s S
1 Ueh-Ueh I 39 TR firetmar & — P ® KCIL; Q § NaCl; R # CaCl,

agr S H MgCl, | TeIv=ITd 98 Tcdeh L@l H 9T o Toreieid & T8
TN 2 mL ST © | TSk GEcl oh Ja1et Rl - Hiid fee «

34 TS AT § S A1 He ol 99161 7, 3 e & -

(a) P3RQ (b) R3S
(c) P,Q3M R (d) P,Q3M S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d P,QandS

31/1/1 17
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27. TR TR o fowe # it & 18 fewafort w forem Shifsre -

[ 3 SAfishanati § o1 3cae Bidl @

I 9 & 3y s@eue & fau sifufsn fasor 4 wifesm wiss
[ERIRISIGIE

I Grertor stfirfsran weh oy yerm 3t Sarefiientor stfifsran 2

IV 9T Al TEe o JEia STl ohl & oal 8

3 et fewfor

() LIFII

(b) IL LTIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/1 18
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forelt o w1 Rt feeisrast sfist o ot o fafem st <t aeem st
TRINT 31 AT © | Sfitl ok <t fow e wgel | @ 3w e g 1
(a) e, =T, T

(b) TSHT, Herehl, <1

(c) W, L, TSI

(d) USHI, HX, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat
(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

o

ffeiRad o & shiF THSI ST 1 9= © ¢ 1
(a) e, ueft 3T foushelt o 3mUTe

(b) FFeT % sheeh R AT & Hdeh

(c) THMES % U@ R fadef & 1@

(d) dUeft o UE TR THEE & U

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

31/1/1 19 [P.T.O.

QB365-Question Bank Software




QB365-Question Bank Software

30. Torelt B 3 JEITRIET i BN o g TRAR W @l Wi sl Sare
T AIddd U AT o1 g0 Yidafers foret o8 W, 3Et S99 o
# wiHd g I FA & faw, g foman | e meiem 3 3@ s
T HIhd U 1 3T AT T A U i oh ToTT SRINTSIET & ST
1 km @ o fret waa o1 ®hid & o1 gama foam | 3 9
T 3 TEY WA hl BIRGA G b [T IWh AT AT TAFTANRG
T T :

(a) TUUHI UG H T
(b) TG I YT H K
(c) U< ol UYT St AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/1 20
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31. feu MU 39 <ig i wfeee wia g, foret gy forar (S, 18 e

TS ! BIHHd b, Jd HH & T4 319 39 Tt o1 Ufafons o€ W

YT ST hT TITH L © | Ue 9T o1 Jdfets gad 21 gidT = -

(a) Hiar 3R UTvd uf@fda
(b) T AR Bret

(c) 3 IR B
(d) TTEY, 3T R B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus

the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) virtual, inverted and diminished

32. forell TR &I & wid § ISRA alctl SRl fohtoT sl 99 SRR

& & foru, = < TRt SR H T STk e 2

y

AN

P
(a) P

(b) Q
(c) R
d S

31/1/1

Q R S

21 [P.T.O.
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Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

N

P Q R S
(a) P
(b) Q
() R
(d) S

F= feu e e 1 SteeE HifSTe fSrem Tt B 3 ST T (L)),
YA I (Lr), TG DI (Le), =T =01 (LA) qen faaed i
(£D) Afeha foru 2 | 3o Tt Sifehd o 2 -

(a) ZAd Li
(b) ZA, Zid Lr
(c) ZA, Zi, Ze & £D

(d) ZA, Zi, Zr 9 /D

31/1/1 22
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Study the following figure in which a student has marked the angle
of incidence (Zi), angle of refraction (£r), angle of emergence
(ZLe), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) LA and Zi

(b) ZA, Ziand Zr

(c) LA, Zi, Ze and ZD
(d) LA, Zi, Zr and £D

34. 34 A AT 1 V& HAd @ SI§ AT TEICH A hl FB I8 39
et | firerd € s s e 2
() TraTeafem
(ii) STTYT S
(iii) AT g
(iv) HifeaH TESISH FEME 7ol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

31/1/1 23 [P.T.O.
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Y o Te@ued & 39 faw =ror =51 Jmifera s Wil fSed 3gemt
Shr5eh ATeliehd Bl ST & ST ITh! hIRTehT fefeai] H TehIvi giS=r g
2

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.
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A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,
does he move the lens?
(i) What happens to the size of the image-does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?
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MARKING SCHEME CodeNo. 31/1/1
CLASS X — DELHI

Expected Answer/ Vaue point Marks Tota
SECTION-A
Q1 (i) GCsHe Ya
(i) CsHs Y2 1
Q2.  Leaf (notches) 1 1
Q3.  Natura ecosystem — Forest/ Lake/ Pond/ River (Any two) Yo+l 1
Q4. - When the object is placed in front of the mirror —
(i) between its pole and focus Yo
(if)  between the focus and centre of curvature Yo
- In case (i) theimageis virtual and erect %
In case (ii) theimage is rea and inverted % 2

Q5.  Advantages of watershed management —
(i)  mitigates drought and floods

(ii) increasethelife of the dams and reservoirs downstream

(itf) increases the biomass production and thereby the income of the
watershed community.

(iv) helpsin maintaining ecological balance by scientific conservation of soil

and water. or any other (Any four) 4x% 2
Q6. - In West Bengal the Sal forests had been very badly degraded. )
- A forest officer involved villagersin protection of Sal forest and gave them
employment in silviculture and harvesting operations. %
Villagers were allowed to collect firewood and fodder on a nominal
payment. Yo
Within a period of 10 years the previously worthless forests became
valuable. %) 2
Q7. - Covaent compounds are those compounds which are formed by sharing of
electrons between two atoms / which contain covalent bonds. 1
Covalent compounds are different from ionic compounds because the ionic
compounds are formed by the transference of electrons. %

Three characteristics of covalent compounds:
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Q8.

Qo.

Q10.

Q11

(i)

(ii)

(iii)

QB365-Question Bank Software

(i) Generaly have low melting and boiling points.
(if) Generaly insoluble or less soluble in water but soluble in organic

solvents.
(iii)Do not conduct €electricity. (Or any other characterigtic) (Any
three)

Esters

Chemical equation —
T

o)
Conc.H,SO I
CHg- C- OH+CHZ CH,0H %% ¥4 Y8 ¥#A® CH3- C- O- CH, - CHg +H,0

Product’s chemical name — Ethyl ethanoate
Conc. H,S0O, acts as a dehydrating agent (Helps in the removal of water
formed in the reaction)

Itisameta
Since it has two €electrons in its outermost shell/ two valence e ectrons,
which it can lose easily.

K (19) is placed before Ca (20) in the same period/ fourth period.

Since the atomic radius decreases along a period, the atomic radius of
calcium is smaller than that of potassium.

The formula of oxide of calcium is CaO, because the valency of calcium
aswell asthat of oxygenis2.

The electronic configuration (2, 8, 2) of the element ‘M’ suggests that it
belongs to group 2 and period 3 of the Modern Periodic Table and its
valency is 2.

The chemical formula of the compounds are~

M (NO3)2/ Mg (NOg)g, MS()4/ MgS()4, M3 (PO4)2/ Mgg (PO4)2.
‘M’ will form ionic compounds by losing two electrons.

When organisms reproduce asexualy, only mitotic divisions are involved
and the chromosome number remains the same. // During asexua
reproduction the DNA (in the chromosomes) of the cells involved are
copied and then equally divided among the two daughter cells formed.
Thus, chromosome number remains unchanged.

In sexual reproduction, organisms produce gametes through a special type
of division, meiosis — reductional division, in which the original number of
chromosomes becomes half. These two gametes combine to form the
zygote and the original number of chromosomes is restored. // In sexual
reproduction specialized cells/ germ cells with only half the number of
chromosomes are formed. When these germ cells from two individuals
combine to form a new individual, the original chromosome number is
restored.
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Example:- In humans, the parents father and mother each have 46 or 23
pairs of chromosomes. In the gametes — the sperm has half the number of
chromosomes i.e., 23 and the egg also has 23 chromosomes, when the
sperm and the egg fuse, the zygote has 46 or 23 pairs of chromosomes.

Yo
Ya

Thus, the chromosome number remains constant. Ya 3
Q12. A Anther — it produces pollen grains Yo, %2
B Style — it provides the path through which the Pollen tube grows and
reaches the ovary Yo, Yo
C Ovary - it contains ovules and each ovule has an egg cell/ femae
gamete. It develops into fruit after fertilization. Yo, %2 3
Q13  Three methods of contraception —
(i) Barrier method or mechanical method/ Condom/ Diaphragm, to prevent
the meeting of sperms and ova.
(i)  Chemica method/ Oral pills, Changes the hormonal balance of the
female partner so that the eggs are not released.
(iii) Surgica method - to block the vasdeferens in males/ vasectomy or the
fallopian tube (oviduct) in females/ tubectomy, to prevent the transfer of
sperms or egg and hence no fertilization takes place. 3X
(iv) TUCDS Loop or the copper-T placed in the uterus, to prevent pregnancy (Yt
(Any three)  v5) 3
Q14. a The dwarf traits of the plants is not expressed in the presence of the
dominant tall trait. 1
b) Inthe F, generation, both the tall and dwarf traits are present in the ratio of
3:1. This showed that the traits for tallness and dwarfness are present in the
F1 generation, but the dwarfness, being the recessive trait does not express
itself in the presence of tallness, the dominant trait. 2 3
OR
a) Parent TT tt
Gamete
= Tt Tal
Gamete @
1
b) F> @ TT Tt
Tal | Tal
@ Tt tt
1+%
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Q15.

Q16.

Q17.

Q18.

Q109.
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Tal | Dwarf

Tdl : Dwarf

3:1

Acquired traits Inherited traits
Do not bring changes in the DNA Bring changesin the DNA of
of germ cells. germ cells.

Cannot direct evolution Can direct evolution

Cannot be passed on to the progeny  Can be passed on to the progeny

F

Early in the morning, the sun is near the horizon, sunlight reaches us after
travelling a longer distance through thick layers of atmosphere. Thus most of
the blue light and shorter wavelengths are scattered away by the particlesin the
atmosphere. The light that reaches usis of longer wavelengths giving a reddish
appearance.

This phenomenon will not be observed by an observer.on the moon.

Because of the absence of atmosphere on the moon.

a) The existence of decomposers is essential in a biosphere because they
breakdown complex organic substances into smple inorganic substances
that can be absorbed by the plants. Thus, decomposers

replenish the soil naturally
helps in removing the biodegradable waste.

b) Inafood chain the energy moves progressively through the various trophic
levels, it is no longer available to the previous level (autotrophs) and the
energy captured by the autotrophs does not go back to the solar input.
Hence, the flow of energy is unidirectional

Pass the vapours of the given samples of saturated and unsaturated
hydrocarbons into bromine water taken in two separate test tubes. The one
which discharges the colour of bromine water is that of unsaturated
hydrocarbon and the other represents saturated hydrocarbon. (or any other test)
On burning ethane in air, the products obtained are carbon dioxide and water,
along with heat and light.

It is considered a substitution reaction because the hydrogen atoms of methane
(CH,) are replaced by chlorine atoms one by one.

Ya

3x1

Ya
Ya

Y

Yo
Ya

1%

=

3
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Q20. a (i) Ovay- (i) Production of female hormone %
(it) Production of female gamete %
(i)  Oviduct- (i) Transfer of female gamete from the ovary Yo
(it) Siteof fertilization )
(itf)  Uterus- (i) Implantation of the zygote Yo
(ii) Nourishment of the devel oping embryo/ placenta
formation Ya

b) Structure of Placenta - it is a disc like structure embedded in the uterine
wall connected to the embryo. It has villi on the embryo’s side of the
tissue and on the mother side, it has blood spaces, which surround the %
villi. Ya
Function of Placenta — it provides a large surface area for nutrients/
glucose and oxygen to pass from the mother’s side to the embryo and %
waste substances from the embryo’s side to mother’s blood. % 5

Q21. - Speciation:- The process of formation of a new species from a pre-existing
one. 1
- Four factors:
Genetic drift
Mutation / Drastic change in the genes or DNA
Natural selection

Geographical isolation 4 XY
- Geographical isolation cannot be a major factor in the speciation of a self-
pollinating plant species. 1
- Reason:- Physical barrier cannot be created in self-pollinating plants. 1 5

Q22. a) i) Pole-Centreof thereflecting surface of the mirror.

i)  Centre of curvature — The centre of the hollow sphere of which the
reflecting surface of mirror formsapart.

iii) Principal axis— Straight-line passing through the pole and the centre
of curvature of aspherical mirror.

iIv) Principal focus — Incident rays paralel to principal axis, after
reflection, either converge to or appear to diverge from a fixed point
on the principal axis called principal focus of the spherical mirror. AX Yo

M

b i) A

inflnity |
’ 1
i)
e Pl &
;tﬁniry N 1
c) Concave mirror "
Image formed is virtual 1, 5
Semosii . s
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Q23. Q) X
4 _ : ;
F\
Diagram 1
b) Marking of u & v
Yo, %
Relation : 121- 1
vV u Ya
©0 m=-Lu=-20cm;v=? f=?
=Y \ v=+20cm
u Ya
Thus object isat 2F
i.e. 2f =20cm
\ f=10cm =0.1m 1
P= 1 = 4 = +10D
f 01 1 5
Q24. & - Cornea- Refractstheraysof light falling on the eye Ya
Iris— Controls the size of the pupil Ya
Crystalline lens — Focuses the image of the object on the retina Y
- Ciliary muscles — Holds the eye lens and adjustsits focal length Y
b) i) Objectives — To make people aware and realize their duties towards
society. 1
i) One person can give sight to two people %
Our eyes can live even after our death %

i) Concern for others/ Responsible behavior/ Group work/ or any other
(Anytwo) 2x% 5

SECTION-B
25 (b) 26 () 27 (c)
28 (d) 29 (a) 30 (c)
31(c) 32 (d) 33(a) 9x1 9
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Q34. (i) Nochange/ or remains colourless
(i)  Nochange
(iii)  Turns pink/orange

(iv) Evolution of acolourless/ odorless gas with brisk effervescence 4X Y 2
Q35. daughter cells
Diagram 1
Labelling %, % 2
Q36. (i) Lenstowardsthe screen/ screen away from the lens
(Note: one mark to be awarded for any other answer) 1
(it)  Increase 1
(iii) Noimage on the screen % 2
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